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1. Answer the following as directed : |
' = | 1x10=10
ot SR were AR el & ¢ |
(@) Cost accounting is a tool used by
management for

(Fill in the blank with appropriate word)
ol I RpioRe 2 AR Tl TS
CaRe___ =iz - |

E (CoHTT *137e N} 31T 979 )
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(b) Aggregate of direct costs is referred to
as cost.

(Fill iﬁ the blank with appropriate word)

(Gge o3 Tl 912 799 )

(c) The difference between attendance time
and work time i1s known as

%%Wmmwwvﬁw
I &=t |

() motion and rating
e == 3]
(1) time and work
WY AR TH
(ii) motion and time
SIS S 3
- (iv) job and work
(Select the correct answer)

(AT TeIhr AR TfeTedn)
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(d) Abnormal loss of material is charged
to costing Profit and Loss Account.

(State whether the statement is true or
false)

ANEAI TRSIRE Ffod GeA JIF &he-
(FITHN Zpie Sove | |
- (CI&Tor 37%) (7 &7 [730])

(e) Idle time arises only when workers are
paid on basis of wages payments.
(Fill in the blank with appmpriate word)

s o o emm Sals AR Rl

EES e 23| _
(G 7T wa?? 1% 739 )

(f) Variable cost per unit remains constant.

(State whether the statement is true or
false)

wﬁaﬂamaﬁm@amﬁaﬁW|
(@@?(BIWWWI%W)_

(g) Contract costing is .a_ls‘c-) known as
Raifefer e IaF Tl T

‘ (i) process costing

ofFaisre Tesvia T 2ot
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(i) terminal costing

TR Sesim 7w Roiee
(i) job costing
A Besim 3 Bt

(iv) batch costing
AR Tesive 1 Zpel

(Select the correct answer)

(33% T&ch! I TfFe)

(h) In job costing, the cost of an incomplete
job is termed as

e T TS, syl T GO

MR R A |

(Fill in the blank with appropriate word) |
(Goge 97T AT} AT %79 F0)

(i) Overtime work is to be paid for at
the normal rate.

WWWWWW
v = W

(Fill in the blank with appropriate word)
(GG *3T eT] 313 9[9 )
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() What is notional profit ?

gRTefes e & 2

2. Answer the following questions : 2x5=10

oo MAER] Ot foR g

(a) What is unit cost?
(516 A e {5 2
(b) Write two benefits of time and motion -
study.
FY BF NS SR 757 Rl T |

() What is meant by semi-variable

overhead ?

SY-sReER T oifRe 7 WA & g 2
(d) Write two features of contract cbsting.

Peifeies Sesimm I 7oy @FEg o

~(e) State the meaning of overtime.

| wfoRe 7 sl B
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3. Answer any four of the following questions :
- | 5x4=20
wore MRl SRR Rigeieal sifbe Oel e g

(a) Mention five benefits of cost accounting.
e Y ReoeReR #iphr R4 &

(b) From the following information, prepare
a cost sheet showing cost per unit and
profit for the month of January, 2024 :

©eTS Al SAPTRT i1, 2ifS (16 Besimw 7
TR SRS 2024 WK A [l IR aww
TR AT TS I 8

Raw materials consumed ¥ 80,000
(B AN IS

Direct wages ¥ 48,000
ASTF NGR | |
Machine hour worked 8,000 hours |
s T T |
Machine hour rate T 4 per hour
S I TR IV

Office overhead 10% of works cost
e Ttz

Selling overhead per unit T 15

Rergi~e 73 odfs iivs
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Units produced .. 4,000 units
T Tesliffe (olf5. |

Units sold 3,600 units @ ¥ 50 each
75 R

(c) Following information, relating to a type
of raw material, 1s available: - 3+2=5 .

oo al SAPR G 4 (@61 AT G0
' \E‘Ti%_\f)% : '

Annual demand - 6400 units

AT oIzl

Unit cost : | TO6
(55 e T

Carrying cost 25% of unit cost
Tgo JI | |
Procurement cost ¥ 75 per order

SR

Calculate EOQ and number of orders
per annum. |

EOQ ﬁﬁmw,aﬂmmﬁ%mwwwn
R w1
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(d) Explain briefly the needs of labour cost
control.

| =N P REEeR ST ORI s IR 9 |

- (e) Write five features of overhead cost.

Toifze TR ~A0! ey e

(f) Write five differences between job
costing and contract costing.

P TeAH T O3 PaifSies Sesiimd 21
NS Ao #ide &= |

4. Answer any fbur of the following questions :
10x4=40

(a) Explain the factors to be considered
. for installation of a costing system.

TAMH I ARG ATSY FAT CFa© RG34
BAMINTR G 4 | ‘

(b) Explain ‘maximum level’, ‘minimum
level’ and ‘re-ordering level’ of materials
stock maintained in an organisation.

4ot AfSHINT AT TGOFET FH D BT,
TR BT R ‘2 -] TF TR K@ [t
|
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(c) North-East Manufacturing Company uses
rubber, which is purchased according to
requirement, from.the market. Following
purchases and issues were made during
the month of March, 2024 :

w428 CREHIRR FRhrs sraem SR T/
IG[ #[ I AR T IR | oo 2024

March 1 : - Opening stock 2000 kg@ ¥ S each
(SISt ErS)
March 3 :  Issued 1500 kg
(fafer) - |
March 4 : Purchased 4500kg @ % 6 each
(@) B o
March 7 : Issued , 1600 kg
- - (Rfer)
March 8 :  Return by production 100 kg
department

‘(Issued on March, 3)
Tesve fToioR #/[ (T1e
(3 Wts Rfego)
March 15 : Purchased 2400 units @ 6'50 each
(&)

March 18 : Return to supplier 200 units -
(Purchased on March, 4)

(SIS (TRR)
(4 b T F][)
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March 24 . . Purchased 1,000 units @ ¥ 7 each
‘ (F3) .

March 26 : Issued 2100 units -
(Rfer)

March 27 : Purchased 1200 units (@ @ T 50 each
(&) -

March 31 : Issued 2800 units
Gl

(@)

From the above information prepare
Storage Ledger by applying FIFO method.

@Y OAFTRI <} FIFO #afe ATaNsics
AN Tgoaeil Aoq aFs I |

What 1s meant by labour turnover?
What would be possible effects of labour
turnover on the cost of production ?
Explain. 2+8=10

S Tfs A T o 2 AT arey T
%Qmwmﬂ@qaﬂ@mﬁ—mﬁﬁavn@
oI Il = |

Following are the information related
to earning of a worker for a week:

weTo fal SR W& W O mﬂ@ﬁzw
G TICS 3

Weekly working time "~ 48 hours
AT T A | |
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I-Iourly wage rate ¥ 7-50
TR QT AT IS

Rate per unit - - ¥3-00
ofS (o157 2= ' |
Normal time taken 24 minutes
per unit

oS (9151 TR FeIRS AN

Normal output per week 120 units
AT FORT TeAWT T

Actual output per week 150 units

(2 AU 2FS TLAM)

Calculate the earning of the worker for
a week under —

oo il 4@ e G YR g e
<1 2 : .
(1) - straight price rate
- 7S SE Q9o
(i1) Halsay premium scheme
A effe bR WS
(i) Rowan premium Séheme
@R esiffe i e
: 2+4+4=10
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(/) What is meant by machine hour rate ?
Mention the steps required to compute

machine hour rate. 2+8=10

THT o T] WA B o 2 AR W TR
SN TG AMCFTR S 1 |

.(g) A product passes through two processes.
The output of ‘process I becomes the
input of process IIl and the output of
process II is transferred to warehouse.
The qua'nt’ity of raw materials introduced
in to process I is 20,000 kg. The cost
and output data for the month of

January 2024, review as under :

@51 BeaAfre AW 1ol Teoiv afFaR TiceE
o 2| YA SeoAvd AFAR 29l e I
Tesiifre AW frota Teoims eifdars &6 ANt
2o Ie= = i o aferaaa Tesnine
AT Ay TGS SIGIRCE TG I 2T | 2L
2AFAe @6l e Zei@ 20,000 e
AT GIZE T4 A | A/ R BAMA ©
©ETS 2024 I QRIS WO 2[4 ¢RI 2= 8
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Process 1 Process II

Direct materials ¥ 60,000 ¥ 40,000
gopF Al |

Direct labour ¥ 40,000 ¥ 30,000
qorE Wil

Production overhead ¥ 39,000 T 40,250
Yeam Tt | |

Normal loss 8% 5%
FreiRG we

Output’ 18,000kg  17,400kg
TeAm

Loss realisation ¥ 2 per unit ¥ 3 per unit
wHooja |

The company fixes selling pricé' on end
product at a margine of 20% on cost. Prepare
the Process Account and determine the

‘selling price .per unit.

@RI 20% &S G w\smﬁﬁ’maﬁ
R o1 Terifnre AN oiFs 4 I 1 affera o
AES I TS &fS (56’ Rerw @ FmRe 31 |
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(h) Following are the summary of
~ transactions obtained from the costing
records of Sri Ram India Limited :

weTe QI e FHRTTT Teomd - TSI
ERMTTYR [T 2l o) A 2= 3

Purchase ¥ 2,00,000

Production wages paid . ¥ 70,000
TeAm TG[{ AWM=

Stock issued to production order ¥ 80,000
o AR AN [ |

Works expenses charged | | |
to production ¥ 45,000
FRIY AW RIS

Finished goods transferred

from production orders ¥ 2,22,000
T TERI - IR AT 2GR

Administrative expense charged .
to production ¥ 15,000

Teomar ReRice et I Wi
Work expenses outstanding ¥ 12,100
Gowe I
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Work expenses paid - ¥25,000
Pass Journal entries for the above
transaction under integral  system of

accounting.
CHIT (TR 2O RBIAa il o® Giam
e fefom - |
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